

## Ajouter et Soustraire Deux Fractions Mixtes (B)

Nom: \_\_\_\_\_

Date: \_\_\_\_\_

Note: \_\_\_\_\_

Calculez chaque résultat.

1.  $8\frac{1}{5} - 4\frac{1}{5} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad} =$

2.  $7\frac{2}{3} + 5\frac{2}{3} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad} =$

3.  $8\frac{7}{8} - 1\frac{3}{8} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad} =$

4.  $8\frac{5}{6} - 2\frac{5}{6} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad} =$

5.  $4\frac{4}{5} - 2\frac{4}{5} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad} =$

6.  $5\frac{5}{6} + 3\frac{4}{6} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad} =$

7.  $4\frac{1}{2} + 5\frac{1}{2} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad} =$

8.  $8\frac{8}{9} - 6\frac{8}{9} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad} =$

9.  $7\frac{3}{7} + 2\frac{3}{7} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad} =$

10.  $4\frac{2}{4} + 3\frac{2}{4} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad} =$

## Ajouter et Soustraire Deux Fractions Mixtes (B) Réponses

Nom: \_\_\_\_\_

Date: \_\_\_\_\_

Note: \_\_\_\_\_

Calculez chaque résultat.

$$1. \quad 8\frac{1}{5} - 4\frac{1}{5} = \frac{41}{5} - \frac{21}{5} = \frac{20}{5} = \frac{4}{1} = 4$$

$$2. \quad 7\frac{2}{3} + 5\frac{2}{3} = \frac{23}{3} + \frac{17}{3} = \frac{40}{3} = 13\frac{1}{3}$$

$$3. \quad 8\frac{7}{8} - 1\frac{3}{8} = \frac{71}{8} - \frac{11}{8} = \frac{60}{8} = \frac{15}{2} = 7\frac{1}{2}$$

$$4. \quad 8\frac{5}{6} - 2\frac{5}{6} = \frac{53}{6} - \frac{17}{6} = \frac{36}{6} = \frac{6}{1} = 6$$

$$5. \quad 4\frac{4}{5} - 2\frac{4}{5} = \frac{24}{5} - \frac{14}{5} = \frac{10}{5} = \frac{2}{1} = 2$$

$$6. \quad 5\frac{5}{6} + 3\frac{4}{6} = \frac{35}{6} + \frac{22}{6} = \frac{57}{6} = \frac{19}{2} = 9\frac{1}{2}$$

$$7. \quad 4\frac{1}{2} + 5\frac{1}{2} = \frac{9}{2} + \frac{11}{2} = \frac{20}{2} = \frac{10}{1} = 10$$

$$8. \quad 8\frac{8}{9} - 6\frac{8}{9} = \frac{80}{9} - \frac{62}{9} = \frac{18}{9} = \frac{2}{1} = 2$$

$$9. \quad 7\frac{3}{7} + 2\frac{3}{7} = \frac{52}{7} + \frac{17}{7} = \frac{69}{7} = 9\frac{6}{7}$$

$$10. \quad 4\frac{2}{4} + 3\frac{2}{4} = \frac{18}{4} + \frac{14}{4} = \frac{32}{4} = \frac{8}{1} = 8$$